
Solve for 𝑥.

ቆ
𝑥

2
⎯⎯+

1

4
⎯⎯=

3

4
⎯⎯ቇ × 𝐿𝐶𝐷: 4

2𝑥 + 1 = 3
         2𝑥 = 2
            𝑥 = 1

Instead of actually 
multiplying by the LCD we 
are going to multiply and 
simplify at the same time. 

                    
2

𝑥 + 2
⎯⎯⎯⎯⎯+ 3 =

11

𝑥 + 2
⎯⎯⎯⎯⎯

                  ቆ
2

𝑥 + 2
⎯⎯⎯⎯⎯+ 3 =

11

𝑥 + 2
⎯⎯⎯⎯⎯ቇ × 𝐿𝐶𝐷 = (𝑥 + 2)

2(𝑥 + 2)

𝑥 + 2
⎯⎯⎯⎯⎯⎯⎯⎯+ 3(𝑥 + 2) =

11(𝑥 + 2)

𝑥 + 2
⎯⎯⎯⎯⎯⎯⎯⎯⎯

              2 + 3(𝑥 + 2) = 11
                  2 + 3𝑥 + 6 = 11
                                  3𝑥 = 3
                                     𝑥 = 1

                  ቆ
2

𝑥 + 2
⎯⎯⎯⎯⎯+ 3 =

11

𝑥 + 2
⎯⎯⎯⎯⎯ቇ × 𝐿𝐶𝐷 = (𝑥 + 2)

              2 + 3(𝑥 + 2) = 11
                  2 + 3𝑥 + 6 = 11
                                  3𝑥 = 3
                                     𝑥 = 1

𝑥 + 2 ≠ 0
        𝑥 ≠ −2

           
15

𝑥ଶ + 5𝑥 + 6
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯ −

2

𝑥 + 2
⎯⎯⎯⎯⎯=

1

𝑥 + 2
⎯⎯⎯⎯⎯

   ቆ
15

(𝑥 + 2)(𝑥 + 3)
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯−

2

𝑥 + 2
⎯⎯⎯⎯⎯=

1

𝑥 + 2
⎯⎯⎯⎯⎯ቇ × 𝐿𝐶𝐷 = (𝑥 + 2)(𝑥 + 3)

                       15 − 2(𝑥 + 3) = 1(𝑥 + 3)
                          15 − 2𝑥 − 6 = 𝑥 + 3
                                               6 = 3𝑥
                                              𝑥 = 2

Factor

𝑥 + 2 ≠ 0
        𝑥 ≠ −2

𝑥 + 3 ≠ 0
        𝑥 ≠ −3

      
2

𝑥 + 2
⎯⎯⎯⎯⎯=

4

𝑥 − 3
⎯⎯⎯⎯⎯

    ቆ
2

𝑥 + 2
⎯⎯⎯⎯⎯=

4

𝑥 − 3
⎯⎯⎯⎯⎯ቇ × 𝐿𝐶𝐷 = (𝑥 + 2)(𝑥 − 3)

2(𝑥 − 3) = 4(𝑥 + 2)
    2𝑥 − 6 = 4𝑥 + 8
        −14 = 2𝑥
              𝑥 = −7

𝑥 + 2 ≠ 0
        𝑥 ≠ −2

𝑥 − 3 ≠ 0
        𝑥 ≠ 3

Multiply by
the 𝐿𝐶𝐷 = 4

Get an LCD 
then Multiply 
by the LCD

        
𝑥

2
⎯⎯+

1

4
⎯⎯=

3

4
⎯⎯

 
2 ×

2 ×
⎯⎯⎯

𝑥

2
⎯⎯+

1

4
⎯⎯=

3

4
⎯⎯

      
2𝑥

4
⎯⎯⎯+

1

4
⎯⎯=

3

4
⎯⎯

     ቆ 
2𝑥

4
⎯⎯⎯+

1

4
⎯⎯=

3

4
⎯⎯ቇ × 𝐿𝐶𝐷      

         2𝑥 + 1 = 3
           −1      − 1
              2𝑥 = 2

              
2𝑥

2
⎯⎯⎯=

2

2
⎯⎯

                𝑥 = 1

  
𝑥

2
⎯⎯+

1

4
⎯⎯=

3

4
⎯⎯

ቆ
𝑥

2
⎯⎯+

1

4
⎯⎯=

3

4
⎯⎯ቇ × 4

4𝑥

2
⎯⎯⎯+

4

4
⎯⎯=

12

4
⎯⎯⎯

2𝑥 + 1 = 3
       −1      − 1
        2𝑥 = 2

        
2𝑥

2
⎯⎯⎯=

2

2
⎯⎯

         𝑥 = 1
Or Add Fractions/Cross Multiply

      
2

𝑥 + 2
⎯⎯⎯⎯⎯=

4

𝑥 − 3
⎯⎯⎯⎯⎯

2(𝑥 − 3) = 4(𝑥 + 2)
    2𝑥 − 6 = 4𝑥 + 8
        −14 = 2𝑥
              𝑥 = −7

Cross Multiply
OR!

                                   
1

𝑥 + 1
⎯⎯⎯⎯⎯+ 2 =

3

𝑥 + 2
⎯⎯⎯⎯⎯

                                 ቆ
1

𝑥 + 1
⎯⎯⎯⎯⎯+ 2 =

3

𝑥 + 2
⎯⎯⎯⎯⎯ቇ × 𝐿𝐶𝐷 = (𝑥 + 1)(𝑥 + 2)

1(𝑥 + 2) + 2(𝑥 + 1)(𝑥 + 2) = 3(𝑥 + 1)
            𝑥 + 2 + 2𝑥ଶ + 6𝑥 + 4 = 3𝑥 + 3
                            2𝑥ଶ + 4𝑥 + 3 = 0                            

𝑥 + 1 ≠ 0
        𝑥 ≠ −1

𝑥 + 2 ≠ 0
        𝑥 ≠ −2

OR!

OR!

OR!

Quadratic Formula:   𝑁𝑜 𝑆𝑜𝑙𝑢𝑡𝑖𝑜𝑛        𝑏ଶ − 4𝑎𝑐 < 0
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